> LR
20245117 7-M70Y5

rEH \
&
ZkEH - ) (11:00)( H#o>B6U797 20% E
A}EE 10:15)( IKhEET nnw: :;:g( NyE—R1 LTDR \;%,
N ) (10: 45 )|
EH 7 E8 %) los| FOCHES T lrauas | NyE—R4 LR P
A L 1(1930) shmLyRy (om| (103 : B 12:45)( 2o S B
(& 11:15)( s wavaw unorae|| FOT | ‘10:4%> EHRILyRY Lk ) (12:004 NnyeE=2 (%
HEH ) (10:15) 7](4:"”’5?5 - ‘Ii >11:22\ (gaﬂ'lwz"’ 0% 10RTHRE 0 <raﬁ\ f:::;ojk ﬁk - Eﬁ% ) \”ﬂﬁi >1_23:§<> ‘iﬁs“ l/“JZV 7:1]& <r;<
—r 10:30 PEIBEAME | @ ) lazos | FOTHAX P :2::7 Ry —— 1324% 3 Vo w8 |[au
(14:00) HERLYAY TR 10BTRE 1A > ) (10: N - : I o Izﬁ,\,,ga»f) )\ f < SHTHOO— )\ iﬁ_:oo\ % * <> N
::::[ 1z il 1:00)( | 5560 # 20z) mm)jy50)  ue Gsd ;i“"ﬁ : oz L8 )| B8
ﬁ:oo[ 7o7Y . " % DO | 41345 ) EBEE 202 \ 11301 ( 7074 X [ sez] (1399)  smmy e
\15=451[ syyax e B g Irdy LRE e >14=g:‘’;mA-""""""“'I'’E (e (a0l o0-NUyRY || ¥8) S 247245 \RE
(16:00) (0 =8 12:30) L () (14:50 )| 1R A <>12:00“=.='fiilti' _ (x| 30 : i
16:30) rems (1238 Lo o (g | (1400 ? xozue/ | (o 30| 9754 VyR Y[ %8 ((ga \ 9794X | F¥
(17:00 IFR/IN— 12: \ x *315; \14:303 757 JI <>Tr X - INPTISA \ (15:00 7 | S
\:8:00J[ ::%( sl <>*3¥\ f:_:::;\ &95? BEE 103\ :ﬁﬁj \:::: i A¥ (BHOI5 L) ][ =FE< 43:_:: ;Eguwz‘/‘oﬁmﬁz 11B2O- 2R/ )\ = 2
%> EDRIVYRY ok < <>19fﬁ [ AGA-MAXKTHE : ’ o ::2::3 [7k3"k‘” pre— ][ﬁﬁi 20:15) U 108:[ J
REE] | 20:20 )| F429797 | 15 BERGIRIIE 2039)(supx (=
(:_g:gﬁ EARILY R Lk )\ = 1 >z::g:‘” 271471 ::3:45[ — 4] [*ﬁl],ll ::2% 07 HAX )
=200 . B 2130, (14:00) ABRLoAY BE0RERE 1R2 < | (21
%fsuplaﬂ'ﬂ"fz é 10 )\ - < L:%/[ ————" <[*1"I) (21:45)(
%> TOTYLX h ’ \&,(\ (&8 : Active (B : Relax ))
(20:00 | (18:45)(_ e ' (&w
%Etﬁ:ﬁ (BB - I ::m:
2030 HARIVYRY R (e
\::;;gJLAQAMAXﬂ(iFEibﬁ;ﬁ/E -k 208 \E )
2EH \ 22:00J(
| me
40:15)( K1 < :
20, oot (BS A kA ETT (R
B XA Mg JIAEESNLETT, LR 1KY BBUCEAD,
o4 v e = 2T 077 ¥ TRROFRY3
Ton (— - on-hbuRy D) 1098) ) mRILy Ry ] A$108LYT- )Y ~ BEYCEEL,
::g: | BikE 51Vy2> ) o) \11:Og;> FHRLyRY thil E * %E&}E#li‘l 70 Ab\s_eéél'\&'j'o gT (il\lj _jﬁljly—cj%ﬁyj -
I CTERE [EDjEIE sl X ZENBATOIIAT b KERLISH -2
(13:00 )1 X N (oA RbyRy H T * = I;@%ﬁﬁ' H
(13:00) 70794 N 10:15 k7 x5 T \ L é$
T = ekt
%> #2BU797 L — (:2”‘1 P —— 208< = ) * ﬁE&IQ#%Hyé[%gfl—cq él:\
495 | . ﬂt*) 3:00 L - [i T
:::z sa-ibyRry > ‘>:3:10 | 7o794Z 208 S s X ﬁé}@#[u\TL
. . HiE 140 )| . [;
ot TO7YAZX — ;:oo] TYOTY4X
20:00 L RSy it*) (20:30 )
(20:00 SENLYRY PEIOATEE NESO-) L
:3::5)




